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Today, I want to talk about those ambiguous viral PEMDAS problems that
circulate on the Internet, with different people giving different answers. As an
example, consider 8 ÷ 2(2 + 2). I believe the reason it is ambiguous is because,
technically, that expression is not a valid string of the PEMDAS language. This
is a valid string of the PEMDAS language: 8 ÷ 2 × (2 + 2). See, there is an
extra multiplication symbol there. And the answer to that one is 16. If we are
to allow juxtaposition, we need to expand the language, and also give new rules
for evaluating multiplication by juxtaposition. That will make things even more
complicated. Let us not make life more complicated than it has to be, life is
complicated enough as it is. Anyway, that is just my judgement of those viral
PEMDAS problems.
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